








53. A system is said to be closed if

(A) it can exchange energy but not matter

(B) it can exchange matter but not energy

(C) it can exchange energy and matter

(D) it cannot exchange energy or matter

54. In the presence of a catalyst, the equilibrium constant of a reaction

(A) increases (B) does not change

(C)' decreases (D) depends upon the reaction

55. The pH of water at 90°C is

(A) <7 (B) >7 (C) 7 (D) 9.0

56. Isotones have

(A) same number of neutrons but different atomic number

(B) same mass number and different atomic number

(C) different mass number and same atomic number

(D) same mass number and same number of neutrons

57. The order of disintegration process of a radio active nucleus

(A) is zero order

(C) is second order

(B) is first order

(D) depends upon the nucleus

58. A mixture of magnesium bromide and magnesium sulphate is known to contain 3 mol
of magnesium and 4 mol of bromide ions. How many moles of sulphate ions are
present?

(A) 1 (B) 2 (C) 3 (D) 4

59. Carbon dating is used

(A) as fuel

(B) to prepare organic compounds

(C) to determine the age of carbonaceous materials

(D) as catalyst
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60. According to fIrst law of thermodynamics

(A) total energy is constant

(C) E =mc2

(B) total entropy is constant

(D) E =hu

61. Theequation Iz+ II-Iz - tl =k represents a hyperbola if

(A) -2<k<2

(C) O<k<2

(B) k>2

(D) none of these

I . 62. ..Jl-c2 = nc - 1and z = eft then.!.. (1 + nz) (1 + !!) =
2ft. ..

65. The number of ways in which r letters can be posted in n letter boxes in a town is:

(A) nr (B) rn (C) npr (D) nCr

66. The normal to a given curve is parallel to x - axis if

(A) (B) dy =1
dx

(C) fix =0
dy

fix _ 1(D) --
dy

67. Five distinct letters are to be transmitted through a communication channel. A total
number of 15 blanks is to be inserted between the two letters with at least three
between every two. The number of ways in which this can be done is

(A) 1200 (B) 1800 (C) 2400 (D) 3000
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(A) l-c cosS (B) 1+2c cosB

(C) 1+c cosB (D) 1-2c cosS

n bn
63. a 1 + 1 is the H.Mbetween a and b, if n isan- +bn-

(A) 0 (B) (C) -1/2 (D) 1

64. If a, band c are in G.P, then

(A)
b-a a

(B)
a-b b--- ---

b-c c b-c a

(C)
a-b c

(D)
a-b a--- ---

b-c b b-c b



68. Sum of the series:

C Cl 2 C2 3 C3 24 Cn 2 n+l. 12 0+-.2 + -.2 + -. + + -. IS equa to
2 3 4 n+l

(A)
3n+1-1

n-1
(B)

3n+1-1
n+1

(C)
3n+1+ 1

n+1
(D)

69. In the binomial expansion of (a-b)n , n~ 5, the sum of the 5th and 6th terms is zero.
a

Then - equalsb

72. A box contains tickets numbered 1 to N. n tickets are drawn from the box with
replacement. The probability that the largest number on the ticket is k,

(A) (~r (C) 0 (D) none of these

73. Two dice are thrown simultaneously. The probability that the sum of the points on
two dice will be 7 is

(A) 5/36 (B) 6/36 (C) 7/36 (D) 8/36

74. Solution of equation [sin x] =[l+sin x] + [1- cos x], 0::;;X::;;28is:

(A)
n-5

(B)
n-4

(C)
5

(D)
6- - - -

6 5 n-4 n-5

a -p
=o. then70. If 10 a

p 0

(A) is one of the cube roots ofunity (B) a is one ofthe cube roots of unity

(C) p is one of the cube roots of unity (D) P is one of the fourth roots of unity

71.
If A=[; :] and IA31=125then the value of ais

(A) :t1 (B) :t2 (C) :t3 (D) :t5

(A)
38

(B) no real solutionx=-
2

(C)
58

(D) none of the abovex=-
2
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75. The number of ways in which two 10-paise, two 20-paise, three 25-paise, and one
50-paise coins can be distributed among 8 children so that each child gets only one
coin, is

(A) 1720 (C) 1570 (D) infmity(B) 1680

76. H the tangent at the point P on the circle x2+y2+6x+6y=2 meets the straight line
5x-2y+6=0 at a point Q on the Y-axis then the length of the PQ is

(A) 4 (B) 2.J5 (C) 5 (D) 3.J5

77. A straight line through the point A (3,4) is such that it intercepts between the axes is
bisected at A. Its equation is

(A) 3x-4y+7=0

(C) 3x+4y=25

(B) 4x+3y=24

(D) x+y=7

78. Nishi has 5 coins each of the different denomination. The number different sums of
money she can form, is

(A) 32 (B) 25 (C) 31 (D) 35

79. limm__( cos :)m is equal to

(A) 0 (B) e (C) lie (D) 1

(A) f(x) is strictly increasing function

(C) f(x) is strictly decreasing function

(B) f(x) has a local maxima

(D) f(x) is bounded

81. A particle is moving along the curve x=at2+bt+c. H ac=b2, then the particle would be
moving with uniform

(A) rotation (B) velocity (C) acceleration (D) retardation

82. The maximum value off(x) = x "on [-1, 1] is
4+x+x

(A) -1/4 (B) -113 (C) 1/6 (D) 1/5
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84. The maximum number of points of intersection of 8 circles is

(A) 56 (C) 24(B) 28 (D) 16

85. If one of the diameter of the circle x2+yL2x-6y+6=0 is a chord to the circle with centre
(2, 1), then the radius of the circle is

(A) .J3 (B) J2 (C) 3

d3 ,l d2

]88. dx~ +11+dx; = 1 has the degree and order as

(A) 1,3 (C) 3,2(B) 2,3

89. The solution of x2 +y2 - 2xy dx
d

= 0 is
y .

(A) x2 - y2 =ex

(C) 2 (x2 - y2) = ex

(B) x2 +y2 = ex

(D) 2(X2_y2)=C

90. The derivative of y = X lux is

(A) xln%Inx (C) 2xlnx-1lnx(B) x lnx-l In x

380 14

(D) 2

(D) 1

(D) 4

(D) 3,1

83. f(Sin4X - COS 4X )dx is equal to

(A)
- C082x

+C (B)
- Sin2x

+C
2 2

(C)
Sin2x

+C (D) C082x + C
2 2

0

86. The value of f(x3 +3x2 +3x+x+(x+l)cos(x+l»dx is
-2

(A) 0 (B) 3 (C) 4

2
87.

flxl dx is equal to-2

(A) 0 (B) 1 (C) 2



Fill in the blanks using a model verb:

91. A good teacher

(A) will/can

make even boring lessons interesting.

(B) should (C) would (D) shall

92. I

(A) should

like to know who she is.

(B) would (C) may (D) shall

(D) will

(D) should

Choose the appropriate antonym of the underlined word from the options
~ven: .

98. Vinod looked at the exam result with bewilderment.

(A) fear

Fill up the blank :

(B) happy (C) smile (D) confusion

99. The road condition is so good

(A) that (B) if

I could drive my car fast.

(C) which (D) smoothly

100. I published my experimental results in a

(A) text book (B) news paper (C) journal (D) magaZIne
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93. The sky is overcast. It rain.

(A) may/might (B) must (C) can

94. If he misbehaves in the class he be punished.

(A) is (B) was (C) can

95. Be Ratient till the last.

(A) Restful (B) impatient (C) outpatient (D) in-patient

96. Have respect to mine honour.

(A) mishonour (B) dishonor (C) insult (D) illtreat

97. Who is so vile?

(A) Good (B) Vulgar (C) Wicked (D) Filthy

Choose correct meaning of the word ven in bold:




